Motorized Stages

=EEER

| HPs

[RoHs || CE |

EATTSDSHMBIRGE - PEERERB TS,

MARS% ® ZZFTHRE), [ TSDMILF-& AT A I
© X T AR B CHU AR (1 RS BE — R I T TSD R, MirAs
KT T TAMMERF.
HEIE= M
EE
s D BT Xy - 24, s TR B AR, YA T EE .
P RN HE B ERENESZ S, EDI G030
JRIEE
FHTA
IRZhEE
guFa W
S K ARTEIR
me HPS60-20X-M5 HPS80-50X-M5 HPS120-60X-M5
178 (mm) 20 50 60
BF AER (mm) 60X 60 100X 80 120X 120
4T (mm) BHLAERE 06 ST BHLALERZE 06 221 BHLALERE 06 221
i | SRR TSD—ESH TSD—AESH TSD—HESH
, EE AL =S EP =P
e =EitE 2eaK 2ean 2ean
% / IRz BE (ka) 0.6 1 1.5
. (%) (um/Bkim) 2 2 2
A A GEB) (umiBk) i i i
i BKR#EE (mm/sec) 10 10 10
EMFEE (um) 15 25 25
Actiifl EE SRS (um) 1 +2 +2
B AR (N) 49 (5kgf) 73.5 (7.5kgf) 98 (10kgf)
. B {540 (” /N - cm) 0.4 0.5 0.5
EemE BAER | 04665 1R1Z ("IN - cm) 0.4 0.5 0.5
7 ("IN cm) 0.3 0.2 0.2
Z{7#2 (um) 1
tEZEI AR (um) 1
F1TE (pm) 30 40 50
BEEFEATE (um) 10 10 10
READ () MmiE (7)) 25/25 30/25 30/25
fERERE MBI fEREE: GP1S09THCZ (B (#%) )
o — epy | ARIEREE 7 () B (&) B (&)
ZRIBD)) 7
| BEEERES EAERE B (B B (BF) B (BF)
R R SRS % x x
23
il RIHL/ fERE SR R ST
Rt e SiEditEH 0.75A/# (ORIENTAL MOTOR (%))
Bl filE=3 PK523HPB-C12 ([128mm)
CJ40mm SR 0.72°
IR E DC5~24V+10%
[180mm EFERR 60mMAILT (BAMMEREE20mARLT)
[185mm o NPNEEHEFE&H DC30VIITF50mAMT
RS
O100mm bl HH  EMOAVEIT (BF16mAR) EMO.TVEIT (H750mAR)
ey EER: B AEOFF (BLL) : BB EERE
£1120mm REHEL EHE: B HREEON (S) : BARESE

HE

HETFIE ROREN RS /IR HIRR RS
IR zhss
]

SG-5M, SG-5MA, MC-S0514ZU, SG-514MSC, MC-7514PCL

FER AL
GSC-01, GSC-02, SHOT-702, GIP-101, HSC-103, SHOT-302GS, SHOT-304GS, HIT-M - HIT-S, PGC-04-U




B2 W9061

2D
CAD

Slm)
CAD

SN

HPS60-20X-M5 [ mismizis maxiz..at

HPS120-60X-M5 [ mxmigi mexiz...

HPS80-50X-M5 [ mr izt maxia.. 44

) (199)
(153) SRR - 100 AT
€0 6-MaX0.7 8 ESD-SR-120 A-M4X0.T R8 70 ESD-SR-120
50 PR R0. LIRS ] X R B
m SM3X0.5 6 AR OE 6-M4X0.7 38 50 EYHOE
d—qo..o.{“ fw’e;"ééi
4 L4
°
Q Tl 8 oaesg a[ E h [ D SR PR
9[ R NS ] 4 lo T e \ o=
= ' " I o
(L 06 ¢ 06 0 2-M4X0.7 4 H—= Eﬂ:e,e’ $ 0 %0
M4X0.7 5 =]
(450) - (450) =
= M4 X0.7 35.5 2-M4X0.7 R4
AL (RFEM) AL ATIL (RFEM)
GOHT-AP
AIFFEE 10 ‘ AIF5EE 10 A3 E25 o6 AIEEE2S
-
° 2 : R e
.‘9: Lo | e Sl [ I L « { .°
Al o - irY -
AR (ZEN) 50 404 5RET EAHAR (ZEM) 0 o 70
o8ieL - 4-GasBHEIL

oy
(224)
120 BAROE
100 ‘
70 4-M6X 1 312
50 4-M4X0.7 F8
2-MaX0.7 4 | ©
© © © ¢

ﬁ
®
50
70
100
120

°

s R

ESD-SR-120

(29)

M= = o
L ¢ 1 AL
© ° o o
e A4
(450)
M4X0.7 5.5 \6-Max0.7 8 f
EMHATRIL (RFEM)
GOHT-AP
A FTEE 30 6 A EEE 30
il
: o ® s M
217 ) i Y *m T /o

AL AT (ZEIM)

4-96.5R¥TL

mig

WEB http://www.sigma-koki.com/index.php?lang=cn

LIRS S
THIEBHL (%) )

RP17-13JA-12SC

ST

Rl (0rRG)
— IR B
IESRTON

-

A jE5~24vDC
— GND (0v)
—Ls (+) e—

AEALI ()

ARPRAL B ek 2t

N3tEfoN .
HE(

—Ls (-) &——p

%)
RS

TE RN BRAL A& L8R A+ T 1]

WHE T RRAR R R,

GP1S097HCZOF
By (+)
R B R
ASEEfON

3]

FRASHSL RIS : AL (BR) %] RP17-13PA-12PC/RP17-PC-122

100

W88 / 3R =h A8 FIFE STt AL

GSC-01 (1%)
GSC-02 28
SHOT-702  (2%)
GIP-101 (1)
HSC-103 (3%

SHOT-302GS (24 )
SHOT-304GS (4% )
HIT-M-HIT-S (8%#)
PGC-04-U  (4%)

ED] G108~G117

G8ITLEL

D15RP-CA

e

120
HPS60-20X-M5

HPS80-50X-M5

HPS$120-60X-M5
2] Driver _CoppSyCable gl

HHIRN R

EDJ G020~G021

MINI-CA-SG

D) e

120

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

NAR%
HFTH -
AR
B
JREE
FHEE
EEEE
WEmEE
BHE
A
g / Waheg
B
it
AcfalfR
ZED )
EREE
e Ry EY ]

LB

[180mm
[185mm

[J100mm
[0120mm
HE



